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Hourly Examination Five Answers
1. Ho: Geographical region and presence of rabies are independent

   Ha: Geographical region and presence of rabies are dependent

1.b. chi-square = .842

1.c. chi-square critical value = 3.841

1.d. do not reject Ho

1.e. At the alpha = .05 level there is insufficient

evidence to reject the null hypothesis. There is also insufficient evidence to conclude that

geographical region and rabies presence are dependent.

2.a. Ho: sigma-sqrd 1 <= sigma-sqrd 2

     Ha: sigma-sqrd 1 >  sigma-sqrd 2 (claim)

2.b. F = 2.5/0.48 = 5.21

2.c. Fo = 4.15

2.d. reject Ho

2.e. At the alpha = .05 level there is sufficient evidence to reject the null hypothesis and therefore accept the claim that the variance of clutch size for captive ducks is less than for wild ducks.

BONUS: FL = 0.215 and FR = 5.60

   The confidence interval is: 0.93 < sigma-sqrd 1/sigma-sqrd 2 < 24.23
3.a. r = -.99

3.b. Strong negative linear relationship between temp and O2 consumption

3.c. NOTE: Although there is evidence of a strong negative correlation, in Sec 9.1 we are only asked to test hypotheses involving significant correlation. Hence we use a two-tailed test.
3.c.i.   Ho: p = 0   Ha: p ≠  0

3.c.ii.  to =  ± 2.447
3.c.iii. t = -.99/.0576 = -17.19

3.c.iv.  Sufficient evidence to reject the Ho at the α = .05 level.

and conclude that there is a strong linear relationship between

temp and O2 consumption.

4.a. slope = m = -.08776

4.b. intercept = b = 3.4714

4.c. y-hat = 3.296

4.d. r2 = .98

4.e. to =  ± 2.447, se = .168, and  E = .436.      The 95% prediction interval is: 2.86 - 3.73

If you spot any errors let me know.

